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#l # k1 ki ki kI % % % % %
# | b i3 i 14 4,758 5, 636 256 276 0.8 0.9 1.0 0.3 0.3
% # 23 4,628 4, 742 270 106 1.3 0.9 0.9 0.3 0.1
2= F 26 4,982 5,511 675 277 1.4 1.0 1.0 0.8 0.3
] Bk 39 6, 959 7,091 312 376 2.2 1.3 1.3 0.3 0.4
K £ 16 19, 109 20, 982 3,461 2, 897 2.5 3.7 3.8 3.9 3.0
& | W 4 58 9,363 9,773 1, 367 1,343 3.2 1.8 1.8 1.5 1.4
&) = 79 16, 256 16, 095 4,428 4,899 4.4 3.1 3.0 5.0 5.0
3 271 61,297 64, 194 10,513 9, 898 15.0 11.7 11.8 11.8 10. 1
b/ K 56 5,678 7,786 2,912 1,012 3.1 1.1 1.4 3.3 1.0
B S 40 6,234 6, 387 788 895 2.2 1.2 1.2 0.9 0.9
o | B 5 32 4,285 4,299 1,012 926 1.8 0.8 0.8 1.1 0.9
B x 37 15, 201 14, 572 3,026 4,344 2.1 2.9 2.7 3.4 4.4
CHEE ) 96 40, 368 44, 062 3,578 1,861 5.3 7.7 8.1 4.0 1.9
m |E By 88 9,539 9,727 1, 595 874 4.9 1.8 1.8 1.8 0.9
7 349 81, 305 86, 833 12,911 9,912 19.3 15.5 15.9 14.5 10.1
I £ 37 2, 637 2, 898 310 372 2.1 0.5 0.5 0.3 0.4
P b 16 20, 209 14,617 2, 145 8,079 0.9 3.9 2.7 2.4 8.2
o % 1| 14 863 885 81 4 0.8 0.2 0.2 0.1 0.0
ool &L 16 1,249 1,437 123 26 0.9 0.2 0.3 0.1 0.0
7 83 24, 958 19, 837 2, 659 8, 481 4.6 4.8 3.6 3.0 8.7
=1 il 26 7,077 7,746 83 45 1.4 1.4 1.4 0.1 0.0
& | 5 1| 40 6, 827 7,111 293 850 2.2 1.3 1.3 0.3 0.9
R &) It 40 2,775 2,974 339 92 2.2 0.5 0.5 0.4 0.1
7 106 16, 679 17, 831 715 987 5.9 3.2 3.3 0.8 1.0




153 B 59 4, 565 6, 396 1, 139 389 3.3 0. 1. 1.3 0.4

# i [it] 32 3, 969 3, 881 28 168 1.8 0. 0. 0.0 0.2
=) % Hn 55 21, 800 19, 646 1,238 3, 886 3.0 4. 3. 1.4 4.0
® = H 49 3, 591 2,761 264 1,375 2.7 0. 0. 0.3 1.4
H 195 33,925 32, 684 2, 669 5,818 10. 8 6. 6. 3.0 5.9

1% i 51 4, 389 2, 196 115 2,479 2.8 0. 0. 0.1 2.5

Iy 4B 55 85, 946 91, 330 11, 492 13, 112 3.0 16. 16. 12.9 13.4

X 3 16 2,533 2, 398 84 35 0.9 0. 0. 0.1 0.0

st JiE 90 146, 494 158, 453 38, 684 34,216 5.0 28. 29. 43. 4 34.9

= B 45 3,739 3, 596 908 2,194 2.5 1.0 .2

Fn % 1L 25 4,027 2, 882 771 1,952 1.4 0. 0. 0.9 2.0

B 282 247, 128 260, 855 52, 054 53, 988 15.6 47. 47. 58.4 55.1

=1 Hx 24 1, 177 1, 334 160 146 1.3 0. 0. 0.2 0.1

= R 37 2,379 2, 705 223 116 2.1 0. 0. 0.2 0.1

[ il 55 5,202 4,011 167 1, 987 3.0 1. 0. 0.2 2.0

i = 56 12, 158 14, 170 766 1, 080 3.1 2. 2. 0.9 1.1

] ] 53 1, 897 2,124 274 131 2.9 0. 0. 0.3 0.1

B 225 22,813 24, 344 1, 590 3, 460 12.5 4. 4. 1.8 3.5

& 29 925 1, 062 322 219 1.6 0. 0. 0.4 0.2

= & 10 1,776 1, 826 143 436 0.6 0. 0. 0.2 0.4
5= 52 2,873 3, 268 223 194 2.9 0. 0. 0.2 0.2

=2 18 5,416 6, 108 44 20 1.0 1. 1. 0.0 0.0

B 109 10, 990 12, 264 732 869 6.0 2. 2. 0.8 0.9

& 67 5, 807 8, 582 3, 180 710 3.7 1. 1. 3.6 0.7

1k 34 4, 141 3, 446 728 1, 482 1.9 0. 0. 0.8 1.5

= 17 1, 201 1,417 108 59 0.9 0. 0. 0.1 0.1

B 118 11, 149 13, 445 4,016 2,251 6.5 2. 2. 4.5 2.3

A& /N 13 2, 805 2, 644 65 302 0.7 0. 0. 0.1 0.3

ne K 5 35 4, 983 4,634 1,011 1, 747 1.9 1. 0. 1.1 1.8
= W75 2 X X X X 0.1 X X

JiiH 5 = 1 X X X X 0.1 X X

B 51 X X X X 2.8 X X

Sl i 1 X X X X 0.1 X X

wa 1, 804 523,073 545, 454 89, 209 97, 990 100.0 100. 0 .0






